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Answer all the questions in the spaces provided
1. The diagram below represents part of an animal cell. Study it and answer the questions that follow.

[image: image1.png]



(a) Identify the organelle marked A.


         


 (1 mark)

….…………………………………………………………………………….
(b) Give three functions of the organelle named in (a) above 

(3 marks)
…....…………………………………………………………………………...

…....…………………………………………………………………………...

…....…………………………………………………………………………...

…....…………………………………………………………………………...

…....…………………………………………………………………………...           
2. Name the organism that causes each of the following diseases:      

(2 marks)

(a) Amoebic dysentery
…..…..…………………………………………………………………………
(b) Bilharzia.
……..…………………………………………………………………………..
3. The diagram below represents an organelle.

[image: image2.emf]
(a) State the function of the organelle




 
 (1 mark)
…………………………………………………………...……………………
(b) Label on the diagram, the parts of the organelle where:
i) Oxygen gas is produced as a byproduct



 
 (1 mark)

ii) Carbon (IV) oxide fixation takes place




 (1 mark)

4. State two functions of bile salts 




          

(2 marks)
………………………………………………………………………………………..
………………………………………………………………………………………..

..………………………………………………………………………………………
..………………………………………………………………………………………
5. Name two classes of phylum Arthropoda whose members have a cephalothorax. 
                                                                                                                           (2 marks)
……..……..…………………………………………………………………………..

…..……………..……………………………………………………………………..

……………………..…………………………………………………………………

6. The diagram below shows part of a leguminous plant.
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(a) Name the structure labelled L. 





 (1 mark)
….......................................................................................................................
(b) Identify the micro-organism that would be contained in structure L. (1 mark)

….……………..................................................................................................
(c) What is the significance of the micro- organism named in b) above?(1 mark)
….…..…………………………………………………………………………

….……………………………………………………………………………..
7. The following is a portion of a nucleic acid molecule.
G-A-C-U-A-G-A-C-G

(a) Name the type of nucleic acid shown above.


            (1 mark)

………...............................................................................................................
(b) Give a reason for your answer in b) above. 

                    
 (1 mark)

….………..........................................................................................................
…….…………………………………………………………………………..
(c) Write the base sequence of the strand that is complementary to the portion shown above   

 




 

 (1 mark)
………………….……………………………………………………………..
8. Name the chemical substance in plants that promotes:


          (3 marks)

(a) Ripening of fruits
..……………………………………………………………………………….


(b) Flowering in plants.

……………………………………………………………………………….                         
(c) Leaf fall in plants.

………………………………………………………………………………..           

9. Study the diagram below and answer the questions that follow.
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(a) What process is represented by the arrows?



 (1 mark)

……..………………………………………………………………………….
(b) Identify the type of cell labelled 4.



                  
 (1 mark)

…………………………………………………………………………….......

(c) Name the tissue formed by each of the following cells.

(2 marks)

i) 1 
…………………….……………………………………………………….

ii) 3
……………………….…………………………………………………….
10. The equation below represents oxidation of a certain food substance.

C18H36O2 + 26O2 ( 18CO2 + 18H2O

(a) Calculate the respiratory quotient of the substance being oxidized.
(2 marks)

………………………………………………………………………………...
………………………………………………………………………………...

………………………………………………………………………………...

………………………………………………………………………………...

(b) Name the likely food substance being oxidized 



 (1 mark)
……………………………………………………………………………….
(c) State one reason why respiratory quotient values are important to work out










 (1 mark)

……………………………………………………………………………

……………………………………………………………………………


11. Study the diagram below and answer the questions that follow.

[image: image3.emf]
(a) Name the parts labelled 

i) Y.................................................................................................    
 (1 mark)

ii) Z.................................................................................................          (1 mark)
(b) Apart from being moist, explain two other adaptations of the part labeled X. 
                                                                                                            (2 marks)
………………………………………………………………………………

………………………………………………………………………………

………………………………………………………………………………

………………………………………………………………………………

12. A strip of herbaceous Tradescantia was cut longitudinally as shown and placed in solution X. After one hour the strip appeared as shown below. 

(a) [image: image11.png]


What physiological process was being investigated? 


 (1 mark)
………………………………………………………………………………
(b) What was the nature of solution X?        


             
 (1 mark)
.………………………………………………………………………………
(c) Account for the results at the end of experiment after one hour.       (3 marks)
……………………………………………………………………………….
……………………………………………………………………………….
……………………………………………………………………………….
……………………………………………………………………………….

………………………………………………………………………………..
13. On a hot sunny day, an adult elephant flaps its ears twice as much as it’s young one. Explain this observation.                                                                      (3 marks)
………………………………………………………………………………………..

………………………………………………………………………………………..

………………………………………………………………………………………..

………………………………………………………………………………………..

………………………………………………………………………………………..
14. The diagram below shows stages in the process of feeding by amoeba.

[image: image12.bmp]


(a) Name the part labelled A.                                                                    (1 mark)
………...……………………………………………………………………… 
(b) Name the process illustrated in the diagram above.                            (1 mark)
……………………………………………………………………………….

(c) Identify the type of cell in the human body that exhibits this process.     











 (1 mark)
.………………………………………………………………………………
15. A horse has 64 chromosomes in its somatic cells while a donkey has 62. A mule is
      produced when a horse mates with a donkey. However, the mule is sterile.

(a) Why is the mule sterile?                                                                       (1 mark)

…………...……………………………………………………………………
(b) Work out the number of chromosomes in each somatic cell of a mule.











(2 marks)

(a) Differentiate between Homologous structures and Analogous structures as used in evolution.                                                                               (2 marks)
………………………………………………….……………………………..

………..……………….……………………….……………………………...

………………………………………………………………………………...

(b) Explain comparative embryology as an evidence of organic evolution        










(3 marks)
…………………..…………………………………………………………….

………………………………………………………………………………...
………………………………………………………………………………...
………………………………………………………………………………...

………………………………………………………………………………...
16. The diagram below represents a type of neuron. 
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(a) Identify the neuron                                                                               (1 mark)
……………………………………………………………………………..
(b) Give a reason for your answer in a) above.                                         (1 mark)
…………………………………………………………………………… 

(c) Using an arrow, indicate on the diagram the direction of an impulse through the neuron.                                                                                           (1 mark)
17. The diagram below represents part of the mammalian blood circulatory system and some associated glands.
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(a) Name the blood vessels labelled A and B.



(2 marks)

A …………………………………….………………………………………..
B …………………………………………..…………………………………..
(b) Which of the blood vessels will have the highest sugar concentration under the following conditions:
i) After a heavy meal







 (1 mark)
………………………………………………………………….......................    
ii) During fasting






      

 (1 mark)
……………………..………………………………………………………….
18. Name one co-factor and one co-enzyme required for blood clotting process to take place normally

(a) Co-factor…………………………………….……………………… (1 mark) 
(b) Co-enzyme …………………………………….…………………… (1 mark)
19. The diagram below represents a structure in a mammalian kidney. Study it and answer the questions that follow.
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(a) Identify the structure.                                                                           (1 mark)
……..………………………………………………………………………….
(b) State the role of the part labelled C.


                      (1 mark)
…...……………………………………………………………………………
(c) Which hormone is involved in the function of the part labelled D?    (1 mark)
…………………...…………………………………………………………… 
(d) Give three ways in which the part labelled B is adapted for it`s function.  









          (3 marks)
………...………………………………………………………………………

.……………………………………………………………………………….

………………………………………………………………………………..

………………………………………………………………………………..            
(a) Define pollination.

       





 (1 mark)
………………………………………………………………………………..

…………..…………………………….……………………………………...

(b) Give two factors that hinder self-pollination and self-fertilization in plants  










(2 marks)
…………..…………………………………………………………………….

………………...………………………………………………………………

……………...…………………………………………………………………
20. State the role of insulin hormone in homeostasis                                          (1 mark)
.……………………………………………………………………………………….

.……………………………………………………………………………………….

21. The diagram below shows some growth in a plant.

                                 [image: image7.png]



(a) Name the type of growth shown in the diagram.



 (1 mark)

….....................................................................................................................
(b) Name the part labeled A




           
 (1 mark)

….......................................................................................................................
(c) What is the function of the part labeled B?                              
 (1 mark)
………………………………………………………………………………

22. Below are two different views of a mammalian bone. Study it and answer the questions that follow.

               [image: image8.emf]
(a) Identify the bone







 (1 mark)
………………………………………………………………………………..
(b) Give a reason for your answer in (a) above



 (1 mark)
………….…………………………………………………………………

23. Explain how plants compensate for their inability to carry out locomotion.    











          (3 marks)
………….…………………………………………………………………………….

………………………………………………………………………………………..

………………………………………………………………………………………..

………………………………………………………………………………………..
………………………………………………………………………………………..
�
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